
Wiskunde : Graad 6 Memo 
 
1.1.1 3 000 
1.1.2 0,5 
 
1.2 376 000 
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           Hy het 25 km voltooi. 
 
1.7      11; 13; 17; 19; 23 
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2.1.1       1,5;   1,8 
2.1.2        25;  35 
 
2.2          
 
 
 
2.3 m + 8 = n 
 
2.4 

      
 
  

x 0 2 5 20 
y 0 6 15 60 
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3.1.1 Trapesium 
3.1.2 Reghoek 
 
3.2.1 Kegel 
3.2.2 Silinder 
 
3.3.1 Middellyn 
3.3.2 Radius 
3.3.3 Middelpunt 
 
3.4.1 

                      
 
3.4.2 Geen simmetrie 
 
3.5         B6; C7; D3; E6; E4 
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4.1.1 Skerphoek 
4.1.2 Regtehoek 
 
4.2 Omtrek = 4 + 10 + 10 + 1 +6 + 9 
                            =  40cm 
                            =  400mm 
 
4.3        17h45 
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5.1 

        
 
5.1.1 Peter 
5.1.2 26 
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5.1.3 John 
 
5.2.1 ses 
5.2.2 {1; 2; 3; 4; 5; 6} 
 
5.3.1 Seker 
5.3.2 Onmoontlik 
 
 

� 

 
� 

� 

 
� 

� 

                   [9] 
              TOTAAL : 60 

 


